1/2R=

WMEME TR RIS - 2025558108 (%)
ol IERAORTRES
N BR SiE-PE-ZE CEERRUHAEERELEEZSD)
BBI—F [&% FTEEH HFEEH |[HEEske |[#YTESke [HExIRGIESke [HESH [ [BYRGISE [HUYRSIHE [SYRSIRE [HEXRGISE [HEXR5IHE [HExdiEIRE
1101[XK1E FE 5 50 0 50 10 0 0 0 0 1620 0
& 251 3740 0 3740
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1141[54R e 4 20 0 20 5 0 0 0 3240 0 2160
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fahel 210 42 0 42 0.2 0 0 0 92 0 81
GhH 816 284 242 42
1207 & & 963 198 198 0
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=H 1720 516 0 516 0.3 0 0 0 0 81 0
= 24 120 0 120 5 0 0 0 0 1080 0
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1321 [HA mE 104 520 0 520 5 0 0 0 1728 0 1296
BiE 99 495 0 495 5 0 0 0 1512 0 1350
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(&) 264 1320 0 1320
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Eh 20 200 0 200
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1541 [ EH EE 180 1800 0 1800 10 0 0 0 1728 0 1188
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S 135 405 0 405 3 0 0 0 1404 0 1080
Gh 295 444 0 444
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GhH 780 81 0 81
1807|#8E E& 200 20 0 20 0.1 0 0 0 0 49 0
f=554 1380 276 0 276 0.2 0 0 0 0 70 0
& 1580 296 0 296
1809|L &L EH 650 65 0 65 0.1 0 0 0 0 38 0
E& 1500 300 0 300 0.2 0 0 0 0 81 0
GhH 2150 365 0 365
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221|=2+ 'S 10 100 0 100 10 0 0 0 0 5292 0
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2811 | & TRk 20 5 0 5 0.25 0 0 0 0 400 0
2l 30 8 0 8 0.27 0 0 0 389 0 367
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Eh 150 38 0 38
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